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(1) 21.98 cm 7cm
(2) 37.68 cm 12cm
(3)31l.4cm 10 cm
(4) 12.56 cm 4cm
(5 18.84 cm 6 cm

® 3.141 @ 3.1416 ® 3.142

®)3.14 ® 3.1

21.98 = 7, 37.68 = 12, 31.4 = 10,
12.56 =+ 4, 18.84 + 6
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@ 58.16cm? ® 50.24cm?

gtz 5-2] o] 1 10 +2 = 5(cm)
o] Yol 1 5x5x3.14 = 78.5(cm?)
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® AE 4cm

@ A& 2.5cm

® A& 6cm

@ A& 2.3cm

® A& 12.56 + 3.14 = 4(cm)

wjepd 9571 71 2 g OU,




10. AE°] 1m ¢ ¥ 2] =947 JlFUtt o] 28 4E 5 HH
=320, 2547 2240 A= 2 m Y7
@D 1m @ 5m ® 7.85m
®)15.7m ® 314m

=2HAE 5 U] 208w, 294 & Zo]9] 5 ui7F Hyth
wabA 1x3.14 x5 = 15.7(m) YUYtk




11. 49 E¥¢] dol7b188.4cm 91 ¥ WHx[F9] dol=Z ecmPU7F?

® 10ecm @ 15ecem @ 20cm @ 25cm (@)30(:111

(9] E4)) = 2x(Y2] ¥ 2) x3.14
188.4 = 2x (9] ¥tA]E5)x3.14
e P0] ¥ 22 188.4 + 3.14 + 2 = 30( cm) YU TH.




12. Hx]Z0] 7.5cm¢l Y2 ¢ 7.85 cmA EZro] Uiro] AhsS

T2, ol ool HASU7

@ A3 @ Hezd (@)zg%y_}ﬁg
@ BE7Y ® B3
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A0 E|o] dol=
7.5%x2x3.14 =471
471 +7.85=6°]2
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@® 34.54 cm? @ 69.08 cm? ® 216.91 cm?

@379.94 cm? ® 1519.76 cm?

B

II.

2 520l

)%2 % 3.14 = 69.08

)%6.28 = 69.08

)= 69.08 + 6.28

11(cm)

D11 x 11 x 3.14 = 379.94( cm?)
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14. ohg do ol 85em? YUtk [ [ghel] Sojz guk2 8
EIA=PAK-N
@ 12 @ 11 @10 @ 9 OR

B ~
W7152] AolE acm} 519
AXAX3.14 =785
AXA=T85+314
AXA=25
A =5(cm)
(&9 Zol)=5x%x2=10(cm)
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@® 188.4cm? 2)125.6 cm? ® 94.2cm?

@ 62.8 cm? ® 31.4cm?
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